8
1

5
v

4
1

3 2

NOTES: CUNLESS OTHERWISE SPECIFIED)

—

. RATED DESIGN LOAD +46/-52 PSF,

ONUTRO

. JAMB LOAD CALCULATIONS:

/. JAMB FASTENER REQUIREMENTS:
=280 LBS.

|
Noteel

0. WELD SLOT ON ANGLE 3/32" X

N s

-

F SECTION,
4, KEY LOCK, OR SIDE LOCK REQUIRED,

— s —a

6. IMPACT RESISTANT GLAZING OPTION-

(1/2 DOOR WIDTHX FT OF HEIGHT)(DESIGN PRESSURE)
(6.067)C1 FOOD46.00 AND -52.00(279.08/-315.48) LB

Exi(l/e DOOR WIDTHXT FT OF HEIGHTX(DESIGN PRESSURE)

0. EXHAUST PORTS- OPTIONAL UP TO 3 PER BOTTOM SECTION.
IMPACT RESISTANT GLAZING SYSTEM MAY AND BE INSTALLED IN TOP OR INTERMEDIATE SECTIONS. GLAZING SHALL BE 1/4° POLYCARBONATE. 14" X 46
MAXIMUM SIZE, FASTENED WITH # 8 X 1" SMS: 5X MAX ALONG THE HORIZONTAL AND 3X MAX ALONG THE VERTICAL. SEE DETAIL F-F ON SHEET 2 FOR ASSEMBLY DETAILS,
17, THE DESIGN OF THE SUPPRTING STRUCTURAL ELEMENTS SHALL BE THE RESPONSIBILITY OF THE PROFESSIONAL UF RECORD FOR THE BUILDING R STRUCTURE AND IN ACCORDANCE WITH
CURRENT BUILDING CODES FOR THE LOADS LISTED ON THIS DRAWING.
18, LOUVER [OPTION - LOUVERS MAY BE INSTALLED IN DOOR IF THE AREA OF EACH LOUVER DOES NOT EXCEED 60 IN. DOOR VENTS LARGER THAN 60 IN MUST BE TESTED FOR IMPACT.
19, A 4-172" X 6" X 22 GA BACKER PLATE IS TO BE LOCATED AT EVERY INTERMEDIATE AND DUTER END HINGE LOCATIONS.

THE DOORS ARE DESIGNED AND MANUFACTURED TO COMPLY WITH THE 2018 IRC AND THE 2018 IBC.

2. SECTION HEIGHTS MAY VARY TO CREATE VARIOUS DOOR HEIGHTS, 24" MAXIMUM SECTION HEIGHT.
MINIMUM 1* OVERLAP ON BOTH JAMBS REQUIRED T0 MEET NEGATIVE DESIGN PRESSURES,

. TESTED IN ACCORDANCE WITH DADE COUNTY PROTOCOLS TAS 201-94, TAS 202-94, & TAS 203-94.
. DOOR SKIN MUST BE 50,000 PSI MIN. YIELD STRENGTH.

. DOOR SKIN MATERTAL SHALL BE GALVANIZED ACCORDING TO ASTM A-525 TO G40 MIN, WITH BAKED-ON PRIMER, AND BAKED-ON POLYESTER PAINT TOP COAT.

FOR ANCHORING INTO WOOD, USE DNE 5/16" LAG SCREW PER TRACK BRACKET VITH 1-1/2* EMBEDMENT INTO SOUTHERN PINE (G=05%) [R BETTER

" LONG ON 12" CENTERS, “IF WELDING MOUNTING OPTION IS CHOSEN
LIFT UP MECHANISM-MANUAL, CHMN LIFT, OR OPERATOR IS NOT PART OF THIS APPROVAL.

2, STANDARD LIFT, HIGH LIFT, VERTICAL LIFT, AND LOW HEADRODM TRACK IS AVAILABLE, FOR LOW HEADROODM LIFT CONDITIONS TOP BRACKET SHALL BE 13 GA LHR 7/4 TOP BRACKET WITH A MIN OF

3 1/4 - 14 X 7/8" SELF DRILLING CRIMPTITE SCREWS IN LIFU OF THE BRACKET SHOWN ON DRAWING, U-BAR ON TOP SECTION SHALL BE INSTALLED ON TOP [F LHR TOP BRACKET

3. ATTACH STRUTS WITH (@) 1/4-14x7/8" SELF DRILLING CRIMPTITE SCREWS AT ALL HINGE LOCATIONS AND (2) BETWEEN EACH INTERMEDIATE HINGE. TYP. STRUT LOCATED AT TOP AND/ OR AT BOTTOM

REVISIONS

ER REV DESCRIPTION DATE APVL
ER P00 NEW DRAWING §/28/18 | ESC
Jed4e | A ADDED IRC/IBC NOTE §/28/20 | TLC
f’fl " OVERLAP 1" OVERLAP —‘
| %
DOOR JAMB
SECTION B-B
SCALE 1+ 12

=

>

ENG F.20.041D-(FORM REV &

; '

4

/CABLE DRUM SHAF T TORSION SPRING COUNTERBALANCE
© : E M ll e
FACER STEEL HAVING A MINIMUN 26 GA = = s
JHINT SEAL /7 PULYANIDE THICKNESS G -40 WITH PRIME COAT WITH A i =17 " IRIZINTAL TRACK )
POLYURETHANE FOAM MINIMUM YIELD STRENGTH OF 468 KSI ) 0P FIXTURE J |
: _THERMAL BREAK FLAG ANGLE == i |
i BACKER STEEL HAVING MINIMUM 29 GA 13 G S/16 X 1-5/8" LAG SCREY B | HIRD_CF el
9,00 1 THICKNESS 6 -40 WITH PRIME COAT i (MIN 3 AS SHOWN FOR L + '
] 15" MAX OC,
1800 £ 03 FLAG ANGLE)
5 ey (TOP ONLY)
| 4) 1/4 =20 X 9/16" LARGE END RINGE - ——, ] :
: Ay i i i
10.40 | | 1/4 = 20 HEX NUTS A STRUT PR SN L e : - — ]
8080 + 03 12" MAX ml N Sl m g
16 GA STIFFENEND il | - i
NOTCHED DOUBLE END CAP L
C 9000° TYP. e BRACKU\W% FOR GLAZED SECTIONS ONLY—T=[I [ e — — 0 e
! | 1/4 - 20 X 9/16" TRACK 12" Max W ey 1 12
- 20004 03 BOLT AND 1/4 =20 HEX NUT | PTIE CoAdhe S £ (A N
cHl = AT EACH JAMB BRACKET PER HINGE PANEL )
_ SECTION A-A 10 e WX SLIDE LOCK—_{|l.... o e
SCALE 1+ 4 | E =}
12 X R0 | (o af 12"
-““‘\o\l?\r“\\ VERTICAL TRACK I Ei: /ﬁ‘? , ﬁ—\“ — L
SRR TEM Ect i . — . - —
F o g .S '.' BOTTOM FIXTURE —- 12’
PJ * o '- * }
,’ * :' 3, ' n Digitally signed @] (C @') @4{
(AR NEE RN NN ] ‘..'....'..Q'...' byJOhnChrlStlan " — — ° o I
4 . C. VOELKEL Crﬁ|st|an by Johr 3 STRUT BOTTON SECTION BNY | : p— ; 2 [l |
". . nn" ......................... Dite: 2020.09.09 ' mf“—(
| "—%'.' 133174 dv'gé|ke| 17:22:01 -05'00' — - Ta’i P
L O ‘/cENs?» 122" MAX DOOR WIDTH AND 240" MAX DOOR HEIGHT VALL ANGLE
W & EN2 HILE_SPACING
\\ SIONA\_V'» = UNLESS OTHERVISE SPECIFIED APPROVALS _ DATE
AN THRD AGLE PROECTIN TOLERANCES: DRAWN £ CONRAD __8/28/18 LEWISVILLE, TEXAS
_RETAINR ANGLE _TRACK o INTERERE I, 08 W st 50 1 TR
VEATHERSEAL \ 2" TRACK - 13 GA ML IS ARE I XX =403 APPROVED § ~— DESCRIPTION
Lo e e L e il T s R
) -t ° , + —
312 N. NEW WARRINGTON ROAD, UNIT 14 o e VEREAD TOR (R D0 NOT SCALE HOLES: DADE COUNTY, 128" NAX WIDTH
- PENSACILA, FL SECTION D-D = +004/-003  [FINISH -
. : SCALE 1+ 4 SCALE 11 4 2501 S. STATE HWY 121 DIMS CIRCLED WITH SYMBOL * C ) ) SIZE{DWG  ND. REV
FL PL 8229 TX PE 133174 SULTE 200 ARE CRITICAL 10 QUALTTY DESTGN | @eol-B200 = +006/-003 D D-411529 A
PROFESSIONAL ENGINEER'S SEAL PROVIDED ONLY FOR LEVISVILLE, TEXAS 75067 | FEATURES & MUST MEET APPLICABLE bl bRl e
VERIFICATION OF VINDL0D CONSTRUCTION DETAILS 469-549-7100 IN-PROCESS INSPECTION STANDARDS. g v FLUS (61T Ore SCALE 112 | UDM = EA | SHEET I OF 4

!


chris
Texas


4

2

ﬁ&ﬁ” EDGE DISTANCE

3/8" X 3" LAGL SCREW, WITH 1-
1/8" WASHER, MAX, OF 24" OIC,,
MIN. 2-3/4" EDGE DISTANCE

8X6#3SP(GU55

R BETTER~

WOOD MOUNTED TO # 3 SOUTHERN PINE SUBSTRATE

P X6 43P (G059
BETTERS

9/16" X 1-5/8" LAG SCREW
INTO MIN 2 X 6 # 3 SP (6=099)
OR BETTER, (SEE DOOR
ELEVATION ON SHEET 1 FIR
HOLE LOCATIONS)

16 GA JAMB
BRACKET

MOUNTING T0 WOOD
JAMB DETAIL

——— /R AR

— 2.5%1" EDGE DISTANCE
j 13 GA CONT,

WALL ANGLE—""
-

TRACK BOLT AND
Vs He T —

3/8" DIA, SIMPSON TITEN HD

FASTENER, MAX DF 18" OC, 2-3/4°

MIN. EMBED INTO MIN. 1500 PST GROUT
FILLED CMU, MIN. 4" EDGE DISTANCE—

7

[-1/8" DD, WASHER —

—4" EDGE DISTANCE

——3" EDGE DISTANCE

CONCRETE, MIN. 3" EDGE

T T2 X6 # 3 P (6=059 R BETTER—— V

WOOD MOUNTED TO GROUT FILLED MASONRY
BLOCK DETAIL

3/3¢

MIN 3/16" THICK STEEL
FOR MOUNTING

=—PTIONAL: WALL ANGLE MAY BE
ATTACHED TO SUPPORTING STEEL
WITH MIN. (D 1/4 - 14 X 1" SELF
DRILLING SCREW WITH 1" 0D, WASHER,
IN LIEU OF WELDING, (SEE DOCR
ELEVATION ON SHEET 1 FOR HOLE
LOCATIONS)

MOUNTING 10 STEEL
JAWB DETAIL

ﬁﬂ EDGE DISTANCE

‘/ ¢ ANCHOR OPTIONS;

1) 3/8" DIA SIMPSON TITEN HD
2000 PST CONCRETE, MIN, 4" EDGE
DISTANCE

/\

EXPANSION ANCHIR, -
MIN. 4" EDGE DISTANCE

MIN. OF 5 FASTENERS FOR MAXIMUM

ANCHER
1" 0D WASHER

*(SEE DOOR ELEVATION ON

FASTENER, 2-3/4° MIN, EMBED INTO MIN,

y 2) 3/8" DIA HILTT KWIK BOLT 3,
[/2" MIN. EMBED,

TTTT1-1/8" 1. VASHER

WOOD MOUNTED T0 2000 PSI

CONCRETE DETAIL

3 ANCHOR

DISTANCE

SHEET 1 FOR HOLE LOCATIONS

MOUNTING TO GROUT FILLED MASONRY

BLOCK DETAIL

SECTION E-E
SCALE 1+ 4

* DD, VASHER /

PUSH NUT

7/16" DIA STEMS TOP

ANCHIR,
DISTANCE

MOUNTING TO 2000 PSI
CONCRETE DETAIL

13 GA MIN,
11 GA END

SHEET 1

——3/8" DIA, SIMPSON TITEN HD FASTENER, MAX. OF
24" [C,, 2-3/4" MIN, EMBED INTO MIN, 2000 PSI

DISTANCE

4[—EDGE DISTANCE

OPTIONS;

1) 3/8" DIA, SIMPSON TITEN HD FASTENER, 2-3/4'
MIN._ EMBED INTO MIN. 2000 PSI CONCRETE, MIN.

3" LDGE DISTANCE

) 3/8" DIA HILTI KWIK BOLT 3, EXPANSION
ANCHOR, 2-1/2* MIN, EMBED, MIN. 4" EDGE

3) 3/8" DIA POWER LOK/BOLT, EXPANSION
1-3/8" MIN. EMBED, MIN. 4" EDGE

*(SEE DOOR ELEVATION ON
FOR HOLE LOCATIONS)

WIDE BODY END HINGES FOR 2" TRACK,
HINGES ARE REQUIRED FOR 3" TRACK

ATTACHED WITH (6) 1/4-14%7/8’
SELF DRILLING CRIMPTITE SCREWS

iy e - Y
N SIZE OF 6 EXHAUST PIRI, BOLT SIZE o AN BOTTON ROLLERS () OF WHICH ARE IN-BOARD <
EXTERIOR FRAVE ///////4/4 POLYCARBINATE MIN 2-1/27 X 3/16" DIA, FOR INSULATED 2 13 CA ROLLER SLIDE ATTACHED
DOORS, AND MIN 3/4" X 3/16" DIA FOR U : .
Dot e e T0 TOP FIXTURE VITH 4/16° - 18 2" ROLLER VITH 7/16" DIA, 1144 WL [R
R - L i
——#8 X " SHEETMETAL SCREW - —
R 7 s e
DOOR SECTION £ - ROLLER LOCATION, 1/4° MAX BETWEEN
WINDOW DETALL T~ gﬁELEIE%%%%E%' REINFORCING PUSH NUT AND BRACKET R HINGE
SECTION F-F
o iXH%%%%TEDBE SE 4 13 GA BOTTOM FIXTURE A1
sal ATTACHED 10 SECTION WITH i
SECTION G-G (4) SCREWS 174 - 14 X 7/8" SELF
SCAE L4 DRILLING CRIMPTITE SCREWS
= OF TR ML o 10— 14X g SLE DRILLNG —1
-— T - g { I _ "
PR € e ..f*q‘\\ 14 GA INTERMEDIATE HINGE CRIMPTITE SCREWS (2 T WHICH ARE . IRILLIG CRITIT SCREVS AT chc
o D ON) ATTACHED WITH (4) 1/4 -14x 7/8" USED 7O ATTACHED STRUT HINGE LOCATION AND (2) BETWEEN
0 . B
£ *. . * ) S JRILLING CRITITE e T STENS 0P A K | EADH INTERMEDIATE INGE FOR EACH
;’.1". ....................... R/ BOTTOM ROLLERS - STRUT
6.2 C. VOELKEL 3 —— PUSH KT
{ <. 133174 Jfad T yEATHERSEAL
i X Sw s (ASTRAGAD) -
1,04, O DETAIL J IETALL K DETALL L
L4 SCENSO\Q‘-, SCALE L4 SCALE 1+ 4 SCALE 1+ 4
WoS/oNAL e UNLESS OTHERVISE SPECIIED APPROVALS _ DATE
NS TOLERANCES: TRV E_CONRAD —B/28/18 LEWISVILLE, TEXAS
INTERPRET DIMS & TOLS T AR S
@_g PER ASHE T149M “XX = f“U3 APPROVED - - DESCRIPTION
J. CHRISTIAN VOELKEL, PE ALL %H%EE@RE IN XX = £ 01 MATERIAL - WINDLOAD MODELS 4600/4650/5745/5765/ | »
312 N, NEW WARRINGTON ROAD, UNIT 1A ANGULAR = +5° 7365/515/525/820, +46/-52PSF
PENSACOLA, FL OVERHEAD DOOR CORP DO NOT SCALE HOLES: o DADE COUNTY, 122" MAX VIDTH
PROFESSIONAL ENGINEER'S SEAL PROVIDED ONLY FOR LEWISVILLE, TEXAS 75067 FéE%Ugﬁg“éA&U§P &%%#lgépﬁ%éégﬁg ) 0300 = +019/-003 ! e ’
VERIFICATION OF WINDLDAD CONSTRUCTION DETALLS, 490450 IN-PROCESS INSPECTION STANDARDS, |ALL UEDMETRY GOVERNED BT SREAD JATARSE, oo SIALE | 12| UM = En [SHEET 2 OF 4
8 ‘ 7 6 5 t 4 ‘ 3 2 1

ENG F20.041D-(FORM REV A


chris
Texas


8 ) 7

NOTES: (UNLESS OTHERWISE SPECIFIED)

WITH 1/4-14X7/8" SELF DRILLING CRIMPTITE SCREWS.

LONE 4" STRUT PER SECTION, AND ONE 3 STRUTPER BUTTOM SECTION, ATTACHED

(12) SECTION DOORS WITH

(12) 4" 20 GA 80 KSI U- BARS

o 8 B
\

.

TRACK 13 GA MIN TRACK (1) SECTION DOORS WITH
CONTINUOUS . (1) 47 20 GA 80 KSI U- BARS
o VALL ANGLEN, ol 360 M 071 reack oo Tl () 3" 18 Gh 80 KSI U~ BARS
[R_CARRIAGE BOLT 11 GA MIN TRACK D WALL ANGLE ] WALL ANGLE o | LATED B8 SN
WITH 17420 NUT AP S U400 TRACK 11 GA MIN TRACK L 1t cs v (10) SECTION DODRS WITH
SCHEDUE L P oo T TR CARRIAGE BOLT ° CLIP SEE SCHEDULE o] )~ IRACK LLIP (10) 4 20 A 80 KSI U~ BARS
16 GA STIFFENEND WITH 17420 NUT : (2) 1/4"-20 TRACK ° e SHRILE LBEATED A8 oW
JAMB BRACKET ] (2 1/4-20x9/16" ] R CARRIAGE BOLT V AN
o AN frtat 7NNl ek BN e 9 scgmn s v
- RSW >TT a1l (9) 4" 20 GA 80 KST U- BARS
5 o ke i g o
TYPICAL TRACK AND JAMB TYPICAL TRACK CLIP TYPICAL TRACK CLIP TYPICAL TRACK CLIP ™~
FASTENERS DETAIL RIVETING DETAIL BLTING ETAL S R © SECIOL RS WA
OPTIONAL WALL ANGLE TRACK ” -
(1) 3* 18 GA 80 KSI U~ BARS
e LOCATED AS SHOWN <
| (7) SECTION DOORS WITH =
- - (1) 4" 20 GA 80 KSI U~ BARS
. () 3" 18 GA 80 KSI U~ BARS
e — LOCATED AS SHOWN <
o - (6) SECTION DOORS VITH = =
_ . (6) 4° 20 GA 80 KSI U- BARS
B () 3* 18 GA 80 KSI U~ BARS
o LOCATED AS SHOWN ~ ~_ ‘ ‘
3 (5) SECTION DOORS WITH = =
(5) 4° 20 A 80 KSI U~ BARS
() 3 18 GA 80 KSI U~ BARS
LOCATED AS SHOWN <
(4) SECTION DOORS. WITH = = =
DOOR HEIGHT DOOR HEIGHT R LI =
= (1) 3' 18 GA 80 KSI U- BARS
LOCATED AS SHOWN
— ° = B B =
STANDARD LIFT LOW_HEADROOM ]
TRACK DETAIL TRACK DETAIL i I =————4" STRUT ATTACHED WITH @) 1/4-14x7/8"
SELF DRILLING CRIMPTITE SCREVS AT
1 EACH HINGE LOCATION AND (2> BETWEEN b 3 3 B
CACH INTERMEDIATE HINCE FOR EACH
DETAIL N
TRACK DETAIL -© = SCALE 1+ 4
SCALE 1: 12 E Z o @ % % %
| 3 STRUT ATTACHED WITH (@) 1/4-14x7/8' P ! ! !
1 /SELF DRILLING CRIMPTITE SCREVS AT
L EACH HINGE LOCATION AND (@) BETWEEN
SN 1= EACH INTERMEDIATE HINGE FOR EACH g B t B
=<t OF g\ STRUT
TN TER n | |-
;’ R o -..@ "' ) -
i Kk ) @ IS - -
".l:l.... '.l'...ll....l..'ﬂ..l'
4 4
6.. ...... C VOELKEL ’ DETAIL 0 STRUT LOCATIONS
" .o.'- 133174 -'Q' S SCALE 1+ 4 SCALE 1:20
'.&O"-. ( / eo .-..éll ’/
W CENSE S
WISIONAL BV o UNLESS OTHERWISE SPECIFIED APPROVALS _ TATE
\ Al = THRD AELE POCTIN TOLERANCES: TRAWN E. CONRAD  8/08/18 LEVISVILLE, TEXAS
AR INTERPRET DIMS & TOLS T ek S
DOOR HEIGHT DOOR HEIGHT S LS TS DR N APPROVED - — ISR
S SRREN | el e LM ot
=T, ¢ , + -
e OVERHEAD DOOR CORP DO NOT SCALE HOLES: DADE_LOUNTY, 127" MaX VIDTH
FL PE 82229 TX PE 133174 HIGH LIFT v 0 S SIATE JVYIEL NS CIRCLED WITH SIMBOL * (3| st %%g% e | 7 e w
VERTICAL LIFT ‘ - -
PROFESSIONAL ENGINEER'S SEAL PROVIDED ONLY FIR TRACK DETAIL TRACK DETAIL LEVISVILLE, TEXAS 75067 | ponyses euel ek Rholesibh > 0,500 = +009/-003 ! e ’
VERIFICATION OF WINDLOAD CONSTRUCTION DETAILS, 469-549-7100 IN-PROCESS INSPECTION STANDARDS. |ALL GEDMEWY GUVERNED BY 3D CAD DATABASE: SCALE ‘ UM = FA ‘SHEET 30F 4
‘ ; | 8300 WL FLUSH COMPLETE”DOOR
8 7 6 5 4 3 2 1

ENG F20.041D-(FORM REV A


chris
Texas


8
1

NOTES: (UNLESS OTHERWISE SPECIFIED)

|

I, FOR DIMENSIONS AND NOTE REFERENCES, REFER TO INDIVIDUAL DRAWINGS.

T
8
ENG F20.041D-(FORM REV A

5 t

4 ‘ 3

1

oo ] - LENGTH = DOOR WIDTH -1
2750 ‘ _
T3750 r s R 1,800 Lo T éﬂé — LENGTH = DOCR VIDTH -1 — a0 i
e 2750 — > R
T [+ K . 1; 219 2730 5498 | & 2375
| 8850 400 : .
—I2500 un - ——046 THICK :
TOP FIXTURE ASSY. BASE, TOP FIXTURE 'L* REINFORCING ANGLE BRACKET ROLLER CARRIFR LHR (7-4) 4 STRUT (UBAR) 3 STRUT DPEN WL (UBAR)
L GA 1 GA L GA 13 6A 80 KSI MIN. YIELD STRENGTH, 4' X 20 GA 80 KSI MW VIELD STRENGIF, 3° X 18 G
TOP FIXTURE DETAILS STRUT DETAILS
— 37 —31%
] SECURED WITH (4) 603879-0002 SCREWS 1/4-20 X 5/8"
/[\7’ ] 71 / 234 THROW
0 S — D
000 o0 ‘
0 8215 0] 5561 { I S
, +0 o 238 o 7380 7390 1188
‘ ® Oﬂ , , J_<!oooo 1 ,
@gD ' I ey J\/HUU 1 7 1290 | 1000 X 150" THICK
L 750
750 L et SIDE LOCK ASSY N
BOTTOM FIXTURE, BB-12 BRACKET, TOP RES, LHR
L i 14 G 11 GA /13 GA
BOTTOM FIXTURE DETAILS HINGE DETAILS LOCK DETAILS
C
XD ?Ug ¢
9,360 REF, —— 10,748 REF, 11000 REF, 1730
- ¢ 437 REF, ¢ 433 R, b SE3RIT I
il - ] — L A |
| IEU 81 REF, | u@ 2,835 R, | Bego REF, 18072
SN\ a J | 940 ‘ =
¢ OF TE}‘\\ Aol my— - m— J 2X 0 31
S AP T 0 N 3750
;* t" '
’f’ g % w d) ROLLER ASSY. 2' WL 1144 ROLLER ASSY. 3' 7/16" STEM ROLLER ASSY. 3" 9/16" STEM W o
% J.C.VOELKEL 4 i— L
l......:....................:..;.; }*4‘806 4‘ — 5—98189
_ "‘99'-.. (1 331 740 .."é;/; ROLLER STEM ASSY DETAILS BRACKET DETAILS FLAG, ANGLE "
'lfé"-{gﬁﬂ§?$"'®,f 13 GA
‘\fs/ONA\_ N UNLESS OTHERVISE SPECIIED APPROVALS _ DATE
e THID AELE FRUECTIN TOLERANCES: TRAVN [ CONRAD  8/28/18 LEWISVILLE, TEXAS
AN INTERPRET DIMS & TOLS i AERE S .
@_g PER ASHE 141 “XX = f“U3 APPROVED - - DESCRIPTION
Lo I W e |
=+ 5° , + -
L ¥é§§gEE[EN FRLDAD' e OVERHEAD DOOR CORP D0 NOT SCALE HOLES: DADE_CLUNTY, 1c'c” WAX VIDTH
FL PE 82229 TX PE 133174 oS S, STATE HVY 121 DIMS CIRCLED VITH SYMBOL * () @85<] post = nIb/-208 - JFINGSH SIZE[DWG NG, REV
/ SUITE 200 ARE CRITICAL 70 QUALITY DESIGN 50200 = 008~ 003 D D-411529 A
PROFESSIONAL ENGINEER'S SEAL PROVIDED ONLY FOR LEWISVILLE, TEXAS 75067 FEATURES & MUST MEET APPLICABLE T CEATETRY COVERIET 37 30 TAT TATATASE
VERIFICATION OF WINDLOAD CONSTRUCTION DETAILS, 469-549-7100 IN-PROCESS INSPECTION STANDARDS. B0 e P st ConeLE T DR SCALE 117P ‘ UM = ‘SHEET LF 4
B T


chris
Texas


		2020-09-09T17:22:01-0500
	John Christian Voelkel




